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Heredity



Heterozygous



Homozygous



0 One of the so-called “parent
plants” in Mendel’s experiment
had pods that were green, a
domimant trait. The other parent
plant had pods that were yellow,

a recessive trait.

(O Mendel discovered that the two
“parents” produced a generation of
plants with green pods. The recessive
color—yellow—did not appear in
any of the pods.
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Different Genotypes

<&~ Different Phenotypes

Phenotype



Polygenic inheritance refers to any trait,
such as human skin color, that can be
exrressed in varying gradients because it i
influenced by multiple genes.

Polygenic Inheritance
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Punnett Square
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Recessive



X-linked recessive, carrier mother
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Unaffected Unaffected Carrier Affected
son daughter daughter son

U.S. National Library of Medicine

Sex-Linked Gene
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Meiosis



The rod shaped
structures in the
nucleus are the
chromosomes
[genetic material).

Parent cell

MNote that as mitosis
continues the
chromosome
material/number has
doubled

Mote the chromosome
number in the two cells
formed have the same
chromosome humber as
the parent cell.

Mitosis
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DNA
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fertilization
gamete (n) ' gamete (n)

zygote (2n)

Lygote



